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INEPEIMOBA
INTRODUCTION

[HTeHCHBHUI ~ pPO3BUTOK  MDKHApOJHUX  3B’S3KiB,  BCTAHOBJCHHA  Ta
HAJAro/PKeHHsI JIUIOBUX KOHTAKTIB 13 3aKOPJOHHUMHU MIIMPUEMIIMUA BHMarae
BUCOKOTO PIiBHS B OINAHYBaHHI HaBHUYKaMU YCHOTO MOBJICHHS Y THIIOBHUX
KOMYHIKaTUBHUX CHUTYaIlisiX CHUIKYBaHHS, BMIHHS TPaBWJIBHOTO CKJIQJaHHA Ta
o(OpMJICHHSI PI3HOMAHITHUX BHJIIB YIPABIIHCHKUX JOKYMEHTIB Ta CIIyOOBOi
KOPECIIOH/ICHIII1.

Y 3B’S3Ky 3 IMM Ha MEpIIMHA IJIJaH BHUCTYMA€ aHall3 JIHTBOTEKCTOBUX
0COOJIMBOCTEM TEKCTIB CIIy>)KOOBOTO TMPHU3HAYEHHS 3 TOYKU 30py OCHOBHOI'O
HaIpPSIMKY Cy4aCHOI JIHIBOCTHJIICTUYHOI HAYKH — (PYHKI[1IOHAIbHO-KOMYHIKaTHBHOT O,
3TiTHO SIKOTO TpoIeC BepOaibHOI KOMYHIKaIllli 3A1MCHIOETECS HE B 130JbOBAHOMY
pPEUEHHI, a LUIAXOM TEKCTIB KOHKPETHOTO TUIy Ta MPU3HAYEHHS 3 ypaxyBaHHSM
KOMYHIKaTUBHOI IHTEHIIIT Ta CUTYallli CIIJIKYBaHHS.

Merow kypcy «llepeknan aioBOro MOBJICHHS» € O3HAHOMHUTH CTYACHTIB C
Cy4YaCHHUM JUIIOBOJCTBOM aHIJIOMOBHUX KpaiH, HABUUTH OPIEHTYBATUCS B MOTOLI
ninoBoi iHGOpMaIlii, 1aTh 3HaHHA OYJOBU Ta 3MICTY TOJOBHHX 3pa3KiB JIIJIOBUX
JOKYMEHTIB. Y TO€THAHHI 13 TTOTJIMOJICHHSIM BUBUCHHSIM TaKUX PO3JI1IIB JIIHTBICTHUKH,
AK CTHIJIICTHKA, KyJIbTYpa MOBJICHHS, opdorpadis, MyHKTyallis, JeKCUKa, (ppa3eooris
CTYZCHT Ma€ OTpUMAaTH JOCTaTHIM 3amac 3HaHb JJIsl IPaKTUYHOTO JIIJIOBOJACTBA.

I B pe3ysnbTaTi BUBYEHHS yCiX TEM CTYJEHT IMOBUHEH 3HATH, SIK BIpHO AOOUpaTH
MOTPIOH1 CJIOBA 1 CKJIQJaTH PEYEHHS BIAMOBIAHO 0 MPUHIIUIIB MHCHbMOBOI MOBH;
JOCKOHAJIO 3HaTH MPABOMUC CIIB 1 3aCO0M BUKOPUCTAHHA MyHKTYyallil, SIKa BIUIMBA€E
Ha CTPYKTYPY 1 CTUJIb AUIOBHUX Mamepis.

JlaHi MeTOIMYHI BKa31BKM MalOTh 32 METY JOIMOMOITH CTYAEHTaM B iX poOoTi
HaJ 3aKpIJICHHSIM MPaKTUYHUX HABUYOK TMEpEeKyIaay IUIOBUX JIHCTIB, TEJIErpaM,
TEJIeKCIB Ta 1H., HaJ MPUAOAHHAM BMIHb PO3YMITH 3MICT KOPECIOHJEHINI 3

000B’SI3KOBUM MTOBHUM 1 TOYHUM TIEPEKIATOM BCiX PEUCHb.



3ABJIAHHA 10 TECTIB
TEST 1
COMPANY
Task 1.

Find the odd word out in each of these groups of business words

1. customer supplier consumer client
2. to include to found to establish to start
3. firm partnership company enterprise
4. Training Personnel Distribution Salaries&Wages
5. Chief Executive  President MD Chairman
6. to purchase to buy to invest to acquire
7. to increase to reduce to expand to develop
8. security assets money capital
9. sole-trader concern liability partnership
10. distribution occupation production selling
Task 2.

Fill in the missing words in the sentences below. Choose from the following.
company employees profit share price
competitors leader share subsidiaries
customers products shareholders turnover

1. 1 work for a called Kwikshoe.

2. Our main are sports shoes.

3. It has seven in five different countries.

4. Its main are aged 15-35 years old.

5. Kwikshoe is a world in the tennis shoe sector.
6. It has a national market of 23 %.

7. It has 2,500 in this country.

8. Its main are in Britain and the USA.

9. Its main are banks and pension funds.

5



10. Its last year was $ 1.2 billion.

11. Its last year was $ 16 million.
12. Its today is $ 57.
Task 3.

A. Read the text and choose one letter for each gap

Simon Hewitt is a successful and ambitious businessman. He enjoys 1 his
own boss and has the objective of becoming a rich man. For the past three years he
has run a patrol station in his home village. As a sole trader he 2 a loan to buy
the lease on the site and to purchase stocks of petrol and other motoring items. 3
the growth of the village he has attracted a greater number of customers than
expected. In spite of heavy interest payments he has earned a reasonable profit and
this has allowed him a small sum to invest back into his business.

A month ago a nearby garage came up 4 sale and Simon was very keen to
purchase it. Ultimately his ambition was to develop a chain of these garages and then
to diversify his business interests.

The second garage was expensive and Simon made an appointment with his
accountant to discuss how he 5 finance his expansion. His accountant was
cautious. “6 you can get a loan to purchase this garage,” she advised, “the

interest payments could be too great for you to survive. You must remember that the

general level of interest rates could rise. 7 option could be to look for a partner.
You should think 8 about this if you want your business to grow quickly.”

1 A being B to be C been

2 A took up B to C took out

3 A despite B due to C because

4 A for B on Cin

5 A might B may C can

6 A when B if C unless

7 A other B neither C another

8 A carefully B careful C carefuly



B. Choose the correct variant to finish each sentence
1. Simon Hewitt is a

A manager of a small firm

B sole trader

C director of a corporation
2. He took out a loan to

A buy the lease on the site

B purchase stocks of petrol

C both Aand B

. He has attracted a greater number of customers because

w

A his petrol was not expensive
B the village became big
C the service was excellent
4. Simon invested back into his business
A a reasonable sum of money
B a small sum of money

C a rather big sum of money

ol

. Last month Simon
A bought a nearby garage
B met his accountant
C earned a reasonable profit
6. Simon discussed with his accountant
A the possibility of his expansion
B how to get a loan
C the possibility to find a partner

\l

. Simon did not buy the second garage because
A the general level of interest rates could rise
B it was expensive
C the accountant was cautious

8. Simon wanted his business



A to grow
B to be stable
C to grow quickly

I11. Write the numbers from the chart next to the job titles of the management

team.
Chairman of the Board .... National Sales Manager ....
Chief Accountant .... Personnel Manager ....
Finance Director .... Production Director ....
Human Resources Director .... 1 Regional Sales Manager (North) ....
Managing Director .... Regional Sales Manager (South) ....
Marketing Director .... 2 Research and Development Director ...
3 4 8 10 12
5 9 11




TEST 2

JOB HUNTING
Task 1.
Find the odd word out in each of these groups of business words.
1. a) to complete  b) to finish c) to submit d) to accomplish
2. a) salary b) wage C) earnings d) debt
3. a) resume b) cover letter c) CV d) autobiography
4, a) purpose b) talk C) interview d) meeting
5. a) aim b) objective C) intention d) confidence
6. a) worker b) employee c) employer d) staff-member
7. a) job b) work C) occupation d) skill
8. a) scholarship  b) experience c) background  d) qualification
9. a) convenient  b) helpful C) aggressive d) suitable
10. a) growth b) responsibility  ¢) development  d) progress
Task 2.
Fill in the missing words in the sentences below. Choose from the following:
to require brief recent full-time employment
to have on hand representative reference objective
appointment to fill(in) confidence
1. Asastudent, youarenot ................. to pay tax.
2. We will make every effort to find our workers alternative ................. :
3. Themain .............. of this meeting is to give more information on our plans.
4, ITmadean................. to see the Sales Manager.
5. Air traffic has grown rapidly in .......... years.
6. Hewashiredona.............. basis.
7. Wewilltakeup ................. after the interview.
8. The management have lost the ............... of their employees (= their employees

do not trust them).

9. Her boss would like to .......... all project documents ............
9



10. Our.............. demonstrate products in people’s homes.

11. Iwillbe............ — | am going to hire several new employees.
12. Check the second section and ............ the blanks.
Task 3.

Read the text below and choose the right answer:

WASHINGTON, D.C. -- Hiring slowed in July as employers added just 113,000 new
jobs, propelling the unemployment rate to a 5-month high of 4.8% and providing
fresh evidence that companies are growing cautious amid high energy prices.

The latest snapshot from the Labor Department added to the evidence from a
variety of economic barometers that the economy is slowing. The tally of new jobs
last month was weaker than the 124,000 added in June and was the lowest total since
May, when payrolls grew by 100,000.

"Businesses are guarded as they see a downshifting of economic growth, rising
energy prices and higher interest rates," said Ken Mayland, president of ClearView
Economics. The civilian unemployment rate jumped from 4.6% in June to 4.8% in
July. Workers' average hourly earnings rose to $16.76 in July, 0.4 percent higher than
in June. Economists anticipated a 0.3 percent rise. Wage growth is welcomed by
workers.

1. When was reported the lowest hiring?

a) in May
b) inJune
c) inJuly
2. How many new jobs were added in June?
a) 113,000
b) 124,000
c) 100,000
3. Do businesses make bigger interest rate?
a) Yes
b) No

10



c) Doesn’t say

4. What’s the difference in June and July unemployment rate?

a) 0,4%
b) 0,2%
c) 4,8%
5. How much are workers’ average hourly earnings?
a) 124,000
b) 100,000
c) 16,76

Task 4.

Read the text and mark one of the letters.

LOS ANGELES, CA -- These days job seekers should spend 60-70% of their efforts
on networking. Let everyone know you're out of a job and available for work. People
like to help, but they can't help if they don't know you're looking. On average, 80% of
job openings aren't advertised at all. Therefore, working with a recruiter and
networking may be the only way to hear about them.

Recruiters, otherwise known as head hunters or search consultants, are hired by
companies to find candidates for them, and often know about unadvertised jobs. It's
Important to note, that recruiters do not charge the job seeker. The company pays a
fee, typically when a candidate is hired.

If you don't know of any good recruiters and would like to have your resume
sent to recruiters that specialize in people with your skills, one service, Resume
Zapper, will instantly email your resume and cover letter to 1000's of targeted
recruiters. You can even get a list of the recruiters they forwarded your resume to for
follow up. To get your resume into the hands of the right recruiters go to Resume

Zapper.

1. Let everybody know that you are looking for a job.

a) Right  b)Wrong c¢) Doesn’t say
11



2. Only 80% of job vacancies are advertised.

a) Right b)Wrong c¢) Doesn’t say

3. Head hunters and recruiters mean the same.

a) Right b)Wrong c¢) Doesn’t say

4. You must pay to recruiter for his /her service.

a) Right  b)Wrong c¢) Doesn’t say

5. Resume Zapper guarantees you to find an excellent job.
a) Right  b)Wrong c¢) Doesn’t say

Task 5.

Write your own resume or CV.

12



TEST 3
PRESENTATION

Task 1.

Find the odd word out in each of these groups of business words.

1. a) firm b) company C) enterprise d) manager

2. a) plant b) factory c) office d) works

3. a) sell b) make C) produce d) manufacture
4. a) manager b) profit C) executive d) business person
5. a) export b) division c)section d) department
6. a) timetable b) plan ¢) schedule d) market

7. a) discuss b) call c) phone d) ring

8. a) choice b) option C) action d) alternative
9. a) staff b) personnel ¢) product d) workforce
Task 2.

Read the text below and find:

a) eight advantages of using visual aids

b) three warnings about using visual aids.

Dinckel and Parnham (1985) say that “The great danger (in using visual aids) is that
presenters place the major emphasis on visual aids and relegate themselves to the
minor role of narrator or technician You are central to the presentation. The visual
aid needs you, your interpretation, your explanation, your assurance and your
justification.”

Visual aids can make information more memorable and they help the speaker.
However, they must literary support what the speaker says and not simply replace the
spoken information. It is also not enough to just read the text from the visual aid.
There are many advantages to the correct use of visual aids. They can show
information which is not easily expressed in words or they can highlight information.

They can cause the audience to employ another sense to receive information, they
13



bring variety and therefore increase the audience’s attention. They save time and

they clarify complex information.

Task 3.

Read the text and mark one of the letters.

The main body of the presentation contains the details of the subject or themes
described in the introduction. All the techniques are especially useful in making the
main body easily understood. They help the audience to follow the information and
to remember it. They also help the speaker to keep to the planned structure and to
know exactly what stage has been reached at all times during the presentation. Clear
structure doesn’t just help the audience! In many presentations the main body can
be usefully divided into different parts. The main parts, each with a main heading, are
referred to in the Introduction. Clearly there are many ways to divide the main body
of a presentation and often different parts will themselves be divided into smaller

sections of information.

1. Introduction and the main body of the presentation are not related to each other.
A. Right B. Wrong C. Doesn’t say

2. It is useful the make a clear structure of the presentation for the audience to

understand.

A. Right B. Wrong C. Doesn’t say

3. Clear structure of the presentation is only for the audience.

A. Right B. Wrong C. Doesn’t say

4. In the presentation there can be from 3 to 5 parts.

A. Right B. Wrong C. Doesn’t say

5. It is forbidden to divide the main body of the presentation into smaller parts.
A. Right B. Wrong C. Doesn’t say

6. Questions are welcome at the end of the presentation.

A. Right B. Wrong C. Doesn’t say

14



7. There are many ways to divide the main body of the presentation into different
sections.
A. Right B. Wrong C. Doesn’t say

Task 4. Fill in the Structure of the Presentation.

15



TEST 4
BRAND MANAGEMENT

Task 1.

Find the odd word out in each of these groups of business words.

1. a) advertising  b) brand C) route d) poster

2. ) job b) chairperson c¢) room service d) refund

3. a) office b) telex c) fax d) reservations
4. a) meeting b) interview C) agenda d) report

5. a) money b) profit c) refund d) apply for

6. a) full colour  b) ozone-friendly c) stress-free d) spray

7. a) recipes b) highly-trained c¢) moneyOsaving d) hard-wearing
8. a) powerful b) effortless C) useless d) tasteless

9. a) driving b) impressive C) provoking d) demanding
10. a) reject b) accept c) delay d) persuade
Task 2.

Fill in the missing words in the sentence below. Choose from the following.
Consistent, highly trained staff, due to, stress-free driving, hard-wearing shoes,
consequences, raw material, money-saving recipes, spring up, purchasing.

1. Inside each cooker there’s a free cook book full of ..............

2. Our............... are ready to look after you every need.

3. With hand-made shoes you geta ................. every time.

4. The sophisticated automatic steering means ..............

5 ... to our competitors we are always in search of new markets.

6. The company is looking for new sorves of .... for manufacturing that type of a
product.

7. The chairperson could not predict the ..... of the quarrel.

8. New kinds of srevices ...... in our city nowadays.

9. We need to be .... in our approach.

10. The ...... power of the local currency has halved.
16



Task 3.
Read some information about a product. You must decide which product is
being referred to. Choose the product from the following list. Each product is

referred to once only.

answer machine computer laser printer photocopier
briefcase cordless phone office chair pocket calculator
burglar alarm diary partitioning Sign making kit
clock fax machine pen table lamp

1. Desk top publishing at an economical price. With built-in pre-recorded message or
facility to high resolution. Compatible with a wide record your own. Speaker volume
control range of systems.

2. The infra-red sensors detect any intruders. Make calls anywhere inside or within
100 meters. A message is immediately sent to the control. outside. Paging facility.

3. 60 grey shades for better transmission of High resolution color monitor. Comes
complete photographs. One touch dialing. with word-processing and other business
software.

4. Stylish cover. Page a day. Contains Swivel base. With or without arms. Fully
conversion tables and other useful adjustable. Variety of fabrics. Extra deep
information. cushioning.

5. Large quantity in stock. Immediate delivery. The effective answer to high volume
duplication. Dismantling and erecting service available. Adjustable speeds. Quality
reproduction.

6. Durable self-adhesive letters, numbers and White dial with black numerals. Battery

symbols in a variety of sizes. Can be used supplied indoors and out.

Task 4.
Read the text and mark one of the letters.
Product Market Strategy
Marketing has been defined as the process of matching an organization’s resources

with customer needs. The result of this process is a product. The need, therefore, for
17



the organization to remain dynamic is obvious because the product is the only key to
the organization’s solvency and profitability. No matter how else the organization
runs itself cost-effectively and sensibly, if the product is not selling well then the
money simply will not be coming in.

“Product market strategy” is the term used to describe all the decisions which the
organization makes about its target markets and the products it offers to those
markets. The use of the word ‘strategy’ is important, for it implies a chosen rout to a
defined goal and suggests long-term planning. This is quite different from ‘Tactical’
activities which are used to achieve short-term objectives by gaining immediate
results. Product market strategy represents a decision about the current and future
direction of the organization.

Product —market strategy must be developed in the most cost-effective manner,
paying attention to cash flow and profitability requirements. To minimize costs at the
outset, a sound marketing approach will usually attempt to increase profits and cash
flow existing markets. The following total strategies are: market penetration, market

development, and product range extension and product development.

1. The result of matching an organization’s resources with customer needs is a

product.

A. Right B. Wrong C. Does not say

2. Well-thought product strategy is the key to the organization’s solvency and
profitability.

A. Right B. Wrong C. Does not say

3. Only top managers can decide on the product market strategy of the organization.
A. Right B. Wrong C. Does not say

4. Strategy is important as it implies a chosen rout to a defined goal.

A. Right B. Wrong C. Does not say

5. Cash flow and profitability requirements are not considered while developing
product market strategy.

A. Right B. Wrong C. Does not say
18



Task 5.
Writing. These are parts of a letter answering an enquiry. Put the correct word

or phrase in each blank. Choose from the following list. Use each item once only.

additional features  enclosed leaflet  further details pleasure

competitive price enquiring hesitate range

date enquiry in addition sincerely

doing business full details in production supply

A.

Dear Ms Prentice

Thank you for your 1. ............... of 3" May about our office stationery. We have 2.
.................. in enclosing our latest catalogue and price list. We hope you will find
it of interest. If you require any 3. ................ ,please donot4. ............ to contact
us. Yours S. ....oiiiiiiiinnn.

B.

Thank you for your letter of January 4™, asking about office furniture. The enclosed
catalogue contains 6. ............... of our range. In most cases we are able to 7.
............... you with the goods you require within fourteen days. We look forward

to receiving an order from you.

C.

Thank you for your letter of 1% June, 8. ................. about the JF72 pocket
calculator.

This model is no longer 9. ................ As it has been superseded by the JF73 solar-
powered pocket calculator. As you will see from the 10. ................ , the new model
has several 11................ at an extremely 12. ................. We have also enclosed
our latest catalogue giving details of the vast 13. .................. of the electronic

goods we supply. We allow a discount of 30% on purchases of not less than 50 of the

same model, and 35% on quantities of not less than 100. 14 ............... , We give a
discount of 3% for payment within fourteen days from 15. ................... of
invoice.

We look forward to 16. .................. with you in the near future.

19



TEST 5
STOCK EXCHANGE

Task 1.

Find the odd word out in each of these groups of business words.

1. a) money b) cash C) currency d) deposit

2. a) bond b) paper C) security d) guarantee
3. a) buy b) be paid c) make d) earn

4. a) value b) coin C) price d) cost

5. a) share b) stake c)part d)course

6. a) debt b) bill c) check d) list

7. a) stability b) steadiness ¢) instability d) constancy
8. a) budget b) financial plan c) services d) resources
9. a) bonus b) premium c) plus d) extra

10. a) owner b) depositor C) investor d) shareholder
Task 2.

Fill in the appropriate words.

banks beads buy coins change
currency depositing earn exchange rate
goods investments money paper notes

savings accounts sell shell value

Money is what people use to 1 ... things. People spend money on 2__and services.
Many people save part of their money by 3 ... it in a bank. People 4 ... money by
performing services. They also earn money from 5 ... , including government bonds,
and from6 _....

7 ... can be anything that people agree to accept in exchange for the things they 8
... or the work they do. Ancient peoples used such varied thingsas 9 ...,10 ..., and
cattle as money. Today, most nations use metal coins and 11 ... . Different countries’

12 ... and bills look different and have different names.
20



|A person can 13 ... his money for the money of any country according to the 14
... . Usually, such rates are set by the central 15 ... of a country. The 16 ... of a

country’s 17 ... may change, depending on the economic and political conditions in

that country.

Task 3.

Read the text and mark one of the letters.

When a company needs to raise money in order to grow, it can choose between
different options. It can issue shares which can be bought by the general public.
These shares are known as ordinary shares. When you buy shares in a company, you
become a shareholder and own a part of that company. As a part owner of a
company, you can therefore make or lose money depending on the company’s profits.
If the company does not make profits, it pays money per share, known as a dividend,
to its shareholders usually twice a year. Companies can also borrow money from a
bank or from the general public by issuing bonds which are loans with a fixed amount

of interests to be paid each year.

1. Shares bought by the general public are known as ordinary shares.

A. Right B. Wrong C. Doesn’t say

2. When you buy shares in a company, you become an owner of the whole company.
A. Right B. Wrong C. Doesn’t say

3. Dividend is paid twice a year.

A. Right B. Wrong C. Doesn’t say

4. Companies can also borrow money from a shareholder.

A. Right B. Wrong C. Doesn’t say

5. Banks are always shareholders of big companies.

A. Right B. Wrong C. Doesn’t say

Task 4.

Read the text and choose one letter for each gap.
21



People accept money 1...exchange for goods and services. But the role of money
depends 2...the state of development of an economy. Money has become an essential
element of economies based 3...the division of labor, in which individuals have
specialized in certain activities and enterprises have focused on manufacturing
specific goods and rendering specific services. 4...order to make transactions as
simple and efficient as possible; the introduction of a generally accepted medium of
exchange suggested itself.

Money performs the function of a medium of exchange or means of payment with
goods being exchanged 5...money and money for goods. At the time it also acts as a
unit of account.

Money is a store of value, 6...part of an individual’s income may be set aside for
future consumption.

These three functions of money — medium of exchange, unit of account and store of

value — can be fulfilled if there is great confidence 7...its stability of value.

1. A. for B.in C.on
2. A. on B. about C. after
3.A. on B.in C. about
4. A. through B. for C.in
5. A. for B. up C.on
6 A. when B. then C.as
7. A. of B.in C. for

Task 5. Match characteristics of money with their definitions.

a) Money should be easily recognized for what it is and hard to copy.

b) Modern money has to be small enough and light enough for people to carry.
Money must be easily transferred from buyers to sellers.

¢) To make change for a banknote is easier than to make change for a cow.

d) The value of money should be more or less the same today as tomorrow.

e) It refers to the lasting quality of money.
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f) This means that equal denominations of money should have the same value. The
National bank of Ukraine, for example, the Federal Reserve System in the USA have

the responsibility in their countries to assure that money is uniform.

1) Uniformity, 2) Stability, 3) Durability, 4) Portability, 5) Divisibility,
6) Recognisability
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TEST 6
NEGOTIATION
Task 1.
Complete sentences with the appropriate idiomatic expression: lose your temper,
got more than you bargained for, get to the point, play your cards right, drive a hard
bargain, put your cards on the table, up for grabs, take you for a ride, beat about the

bush, no big deal, got to be kidding.

1. The director’s jobis ........... if you want to apply for it.

2. It’sneveragoodideato....... , you only look ridiculous.

3. You thought that exporting to China would be easy — but you .......... , did not
you?

4. You are a tough negotiator and you are very intelligent, so no one can ever
5. Let’snot ...... any longer. If you give me three months free credit, I’ll take the
goods off your hands.

6. I wish she would ...... - it all seems irrelevant to me.

7. A 75% cutin price! You have ...... !

8. Ifyou...... and keep cool, you should be able to get a good price.

9. Itistimeyou...... . Tell us what you really want.
10. It is ..... if we don’t get the contract — we won’t make much of profit from it
anyway.

11. You want $300 for that old printer. You certainly ...... !

Task 2.

Read the text and choose the correct word to fill in.

In the 1940s, a man called Michael Arlen was trying to write scripts 1... Hollywood
movies. He’d some success, but he was finding it very hard to make a living. Then
one day, he went 2.....a drink at a fashionable New York restaurant. In the lobby he

3..... a famous Hollywood film magnate, Sam Goldwyn. Arlen knew that Goldwyn
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owned one of Hollywood’s biggest studios, so he went up to him and explained his 4

“In your situation,” Sam Goldwyn told him, “you should buy racehorses.”

Arlen hardly had enough money for a drink, so Goldwyn’s 5........ was no help at all.
Then, to his amazement, on the other side of the restaurant, he saw Sam Goldwyn’s
great rival, Lois B. Mayer, who owned 6....... top Hollywood studio at that time.
Again Arlen introduced himself.

“So what are your plans for the future?” asked Mayer.

“Well,” said Arlen, “I was just talking to Sam Goldwyn...”

Mayer immediately interrupted him: “How much did he offer you?”

Thinking 7...... , Arlen said, “Not enough.”

“Would you take fifteen thousand dollars for thirty weeks?” asked Mayer.

In 8..... days, that was a very large salary and Arlen did not hesitate: “Yes,” he said.

1. A. for B. about C. with

2.A. 10 B. for C. with

3. A. saw B. seed C. has seen

4. A. issues B. problems C. propositions
5. A. hint B. advise C. advice

6. A. anothers B. others C. another

7. A. quick B. quickly C. fastly

8. A. those B. these C. that

Task 3.

Read the text and mark one of the letters.

Don’t be put off by the word “no”. The word “no” in a negotiation is usually code for
“not right now” or “not exactly” or “maybe, but I’'m not going to give in just now”.
Take phrases like “impossible”, “never”, “no way” as invitations to keep on talking.
After all, if the other person really thought that a deal was out of question, he would

get up and walk out.
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Skip over the points that are bogging you down and come back to them later. Rather
than jeopardize the entire negotiation, suggest that the sticking point be put aside for

now and returned to after other matters have been sorted out.

1. Every time you hear the word “no” during negotiations, you are put off.

A. Right B. Wrong C. Doesn’t say

2. “No” in negotiation can be interpreted as “I’m not ready to decide right now”.
A. Right B. Wrong C. Doesn’t say

3. “Impossible”, “never” or “no way” is the way to refuse speaking further on a
guestion.

A. Right B. Wrong C. Doesn’t say

4, On hearing “no” a negotiator should stop the process of arguing.

A. Right B. Wrong C. Doesn’t say

5. A negotiator should never return to an unsolved question.

A. Right B. Wrong C. Doesn’t say

Task 4.

Look at the chart below. It shows the production of meat and poultry in the UK
over a period of eight years. Which year does each sentence (1-5) describe? For
each sentence choose one letter (A-H).

1. Poultry production peaked by the end of this year.

2. Beef and veal production figures fell sharply by the end of this year.

3. This year was the third time that mutton and lamb production remained at around
the same level.

4. The amount of poultry produced decreased in this year for the first time in eight
years.

5. While mutton and lamb production remained stable, beef and veal figures rose to
their highest level during the eight-year period.
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Kpurepii oninkn
BUKOHAHHS TECTOBX 3aBJaHb
3 TUCIUIUIIHU «Jli10oBa 1HO3eMHa (aHTJIIMChKa) MOBaY
cTyneHTamMu Hanpsamy miarotoBku 6.030503 «MixkHapoiHa €eKOHOMIKay

PiBensn AmHai3 BUIIB OISUIBHOCTL Bamu
BUCOKUIH CryzneHT 3Ha€ TpaBWiIa OpraHizallii JIUJIOBHX Iamepis, 5
BMi€ TOYHO BUPAXKATH IX 3MICT Ta CTHJIb; y JIEKCUYHUX 1 (BigmiHHO)

rpaMaTUYHUX TEKCTaxX CTYACHT AEMOHCTPYE YITKE 3HAHHS
MIPaBUJI CIIOJTYYEHHS JIEKCUYHUX OJUHUIIb; 3HAHHS CTAJIUX
BHpa3iB Ta iJ1i0M, 3HaHHS OCHOBHHUX TpaMaTHYHHUX Ta
JIEKCUYHUX MOJENEH, CBIAOME BUKOPUCTAHHS CTUIIO 1
pericTpy, 3HAHHS KOHOTAIIIi. Bunpasnenns
HenpuyctuMi. KinbKicTh TOMYCTUMUX TTOMHUJIOK — HYJIb.

AOCTATHI CtyneHT BOJIOAIE OCHOBAaMH  OpraHizaimii  JIJTIOBUX 4
nanepiB, Ma€ HaBUYKH YJOCKOHAJIECHHS iX MOBH Ta CTUIIIO (modpe)
Ta BIAMIHHOTO BHUKJIAAy 3MICTy, aj€ Ma€ HEeBEJINYKi
MOTPIMIHOCTI. Y JIEKCMYHUX Ta IPAMATUYHUX TEKCTaX
CTYyJICHT BUSBJISI€ 3HAHHS CTallUX BHUpPA3iB Ta 1710M,
3HAaHHS OCHOBHUX I'DaMAaTHUYHUX MOJENEH Ta JEKCUKH,
mpaBmwia ix crnonydeHHs. KibKICTh BIACHOPYYHUX
BUIIPABJICHb HE MOKE IMEPEBUIIYBATU TPbHOX, KUIBKICTh
IIOMHWJIOK B MEXaxX TPhOX.

CryzneHT BMi€ KOHCTPYIOBAaTH maparpadu 3a omnopamu y 3
cepeaHii MEXXax BUBUCHHUX TE€M JJis OpraHizaiili AYMOK B €JIUHY (3210BiIbHO)
IHTENIeKTyaJIbHy CTPYKTYPY Ta CKJIaaaTd i opopMIIIOBaTH
JIIOBI Tarnepu, aje B HOro MMCEeMHOMY MOBJICHHI MalOTh
MICLIE TOMUJIKUA (HE Oulbllie m’ATH). Y JEKCUYHUX Ta
rpaMaTUYHUX TEKCTaX TOYHO 1 BIATMOBITHO BXKHMBAE CTall
BUpa3W, Ma€ 3HAHHSI OCHOBHUX TpaMaTUYHUX Ta
nexcuuHux mojenei. [lpaBuna ix cnonydenns. Kinpkicts
MOMUJIOK Ol7bIIIE TPHOX, ajge B MeXKax 7, KUIbKICTh
BJIACHOPYYHHUX BHUIIPABJICHb HE OiIbIIe I SITH.

nouarkoBmii | CTyACHT 3Ha€ OCHOBHI NMPUHIMIMN OpraHizailii IiJOBUX 2
marepis  Ta, MOPOTe HE 3aBKAM  aACKBATHO iX | (He3aJ0BiIbLHO)
BUKOPUCTOBY€E. 3HAHHSA JIGKCUKM 1 TpaMaTUKA  HE
JEMOHCTPY€E TOYHOCTI 1 BIAMOBIAHOCTI BXKWUBAaHHS MOBH,
HEMa€ CBIJJOMOTO BUKOPUCTAHHS CTUJIIO 1 PETICTPY, 3HAHb
KOHOTaIlii, Opakye 3HaHb CTaJuX BHpPA3iB Ta IiOM,
HEJIOCTAaTHE 3aCBOEHHS OCHOBHUX TIpaMaTHYHUX Ta
JEKCUYHUX MOJIeJIeil, MpaBWJI CHOJYy4YEHHS JIEKCUYHUX
oauHUIG. KiTbKICTh MOMUIOK OHAJ CIM.
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